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Seventh Semester B.E. Degree Exanftipation, Feb./Mar. 2022
p Quantity Surveying and Contracts Management
Time: 3 hrs. (T k. . 'Max. Marks: 100
s Note: Answer any FIVE full quesfia(asf chéosing ONE furll quc.:!r’on from each module.
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3 2 The details oftwg room building are shown in the Fig.Q2. Estimate quantitics and cost of _
EE the following item§ of work: i
Y (i) Earthwork.€xcavation foundation at Rs:380/m’
4 (ii) Bed concrete 1 :4:8 for foundation'at Rs.2600/m’
s (iii) S.S.M.‘for foundation and basement at Rs.3600/m’
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3 The details of septic tank are shown in Fig.Q3. ‘ESIIF:,JJB the quantities of l:ollo

and cosl. {
(i) Earthwork excavation at Rs. 400/m’ £ v
L]

(i) PCC 1 :3 : 6 for bed at Rs. 2500/m’ f

Gil) BBM in CM 1 : 4 at Rs, 2200’ _."%,” Q)

(iv)R.C.C. 1 : 2 : 4 roof slab cover at Rs: /m : A

(v) 12mm cement plaster for sidewallliat . 200/m %
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4 Prc.pam f:fiemled estimate for catthwork for a portion of road from the following data:
Dist. <™y 0 [ 100 [ 200 1:300,7400 [ 500 [ 600Y] 700 | 800 [ 900 | 1000 | 1100 | 1200
mm - 7 l-f J
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| Downward gradient 1 in 400 ~

14Side slope 2:1 in banking and 1'% : | in cutting. Calculate
o1k in banking and cutting; the rates are Rs. 275/m” and
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